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1. A racer covered a 4500 mL’!r@m 18 ‘Eés Calgulate the wgloclty ulP %{ 9 gﬂmd

2. Jane ant spee{ ofy@ls 30N ar dl run in meters? Km?
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3. A photon of Light travels at 3 x 10 m/s (the speed limit of the universe). If it takes light about 9
minutes to reach Earth from the sun, what is the Earth-Sun distance? )
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4. Does this‘ gmph of a trip by a car represent a real sntuatm\Ex“p‘am.
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5. A car drives on a road at a speed of 35 mph. Convert this into m/s and compare the distance the car

travels in one second to the size of our classroom. l 9\37 ( ’
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6. Calculate the slope of the fo owing graphs ¢ dure to state

As (km) As (m) m (kg)
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7. Refer to the graph.
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a. Describe the “trip”. /5 ’,o?)‘t——/ l
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b. At what time is the person going the fastest? Calculate this speed. N 1J
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c. How fast is the person going at time 70 seconds? 30 m
.
d. What is the average speed for the entire trip? 5 ) )
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8. A train travelg 100 km/hr for 0.52 hrfthen 50 km/hr for the next 0.24 hr, and finally 135 km/hr for the

last 0.65 hr. What 1STHE average speed of the tram for this trip? §
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"Well, faally! I thoughe this thing would never end.” ﬁ‘(‘;’)-.—as {-l'((




